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Initial
5 clocks | 6 parameters a>=0
&b>=0
&c>=0
&d>=0
a _
xprod b %? i; 8
model | ¢ | smoa-o
XCONS & xnodel =0
<total e & xnode2 = 0
f & xcons =0
& xtotal = 0

Producer

(prodReady

d>= Xprod)

xprod >= c\ xprod >= a
Feed2 ProdReset
xprod := 0;/ xprod := 0;

Consumer

|

XCONsS >= Cc| Xxcons >= a
Feed4 ConsReset
xcons := 0;/ xcons := 0;

(consReady d>= XCOHS)

Nodel

|

xnodel >= ¢
Feed2
xnodel := 0;

(nodel Ready

d >= xnode 1)

(prodWaiting

b >= xprod) (consWaiting

b >= XCOHS) (intermediatel

f >= xnode 1)

xnodel >= e
NodelProcessl

xnodel := 0;

L

(intermediateZ

f >= xnode 1)

xnodel >=e

NodelProcess?2

xnodel := 0;

xnodel >=c
(intermediateS f >= xnode 1) Feed3
xnodel := 0;
xnodel >= e
NodelProcess3
¢ xnodel := 0;
(intermediateél f >= xnode l)

xnodel >= e
NodelProcess4
xnodel := 0;

intermediate5

f >= xnode 1)

xnodel >= e
NodelProcessb
xnodel := 0;

(send

d >= xnode 1)

Node2

observer

l

(nodeZReady d>= xnode2) (waiting

5 >= Xtotal)

xnode2 >= c
Feed3
xnode2 := 0;

xtotal = 5

v

(intermediatel f>= XIlOdGZ)

(ﬁnished

Tru e)

xnode2 >= e
Node2Processl
xnode2 := 0;

Y
(intermediateZ

f>= Xnode2)

xnode2 >= e
Node2Process?2
xnode?2 := 0;

xnode2 >= ¢
Feed4
xnode2 := 0;

(intermediateS f>= Xnode2)

xnode2 >= e
Node2Process3
¢ xnode2 := 0;

(intermediateél f>= xnode2)

xnode2 >= e
Node2Process4
xnode2 := 0;

(intermediateS f >= xnode?2

xnode2 >= e
Node2Processb
xnode?2 := 0;

(send

d>= Xnode2)




